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Accounting Equation
Practical Problems - 23
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Given:

Total Assets =
External Liabilities =
Additional Capital =
Drawings =

Profit during the year =

Capital + Liabilities = Total Assets
or, Capital = Total Assets — Liabilities
Capital = 32,00,000 - 26,000

Closing Capital = %1,94,000

X2,00,000
26,000
20,000
12,000
20,000

Closing Capital = Opening Capital + Additional Capital + Profit - Loss - Drawings
%1,94,000 = Opening Capital + 20,000 + 20,000 - 12,000

%1,94,000 = Opening Capital + 328,000
Opening Capital = %31,94,000 - 328,000
Opening Capital = ¥1,66,000
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